

$$f(n) = \begin{cases} n^2 - b; & |n-1| \geq 2 \\ a + 2n; & -2 \leq n \leq -1 \end{cases} \quad \begin{matrix} |n-1| \geq 2 \rightarrow n-1 \geq 2 \text{ or } n-1 \leq -2 \\ n \geq 3 \quad \quad \quad n \leq -1 \end{matrix}$$

$$f(-1) \rightarrow (-1)^2 - b = 1 - b \rightarrow 1 - b = a - 2 \rightarrow a + b = 3 \quad (a+b=3)$$

$$f(-1) \rightarrow a + 2(-1) = a - 2$$

$$f(n) = \sqrt{a - bn - n^2} \quad [b, a] \quad a+b=? \quad (a \neq 0, b \in \mathbb{Z})$$

$$f(a) = 0 \rightarrow \sqrt{a - ab - a^2} = 0$$

$$f(b) = 0 \rightarrow \sqrt{a - b^2 - b^2} = 0 \rightarrow a = 2b^2$$

$$\sqrt{2b^2 - 2b^2 - b^2} = 0 \rightarrow -b^2 = 0 \rightarrow b = 0$$

$$a+b=1$$

$$\begin{matrix} a=2 \\ \uparrow \\ b=-1 \\ \uparrow \end{matrix}$$

$$b^2(2 - 2b^2 - b^2) \rightarrow b(-b^2 - b + 2) \xrightarrow{b=0} a=0 \quad \times$$

$$-b^2 - b + 2 = 0 \rightarrow$$

$$b^2 + b - 2 = 0 \rightarrow b^2 + b - 2 = 0 \rightarrow (b+2)(b-1) = 0 \rightarrow b = -2 \text{ or } b = 1$$

$$y = \frac{2}{\sqrt{ax^2 + bx + c}} \quad D_f = (-\infty, 2) \quad a+c-2|b|=?$$

از اونجایی که $\sqrt{\quad}$ از $-\infty$ مثبت است یعنی از 0 بزرگتر پس معادله $a+c-2|b|=0$ پس $a=0$

$$a+c-2|b| = 0(0) + (-2b) - 2(-b) = b \quad (b) \quad 2b+c=0 \quad \text{پس } b=0$$

$$\text{الف) } f(n) = \sqrt[n]{\frac{1}{|n| - [n]}} \quad \begin{matrix} |n| - [n] \text{ نام } \\ \text{صفر شود} \end{matrix} \rightarrow |n| \neq [n] \rightarrow D_f = \mathbb{R} - \mathbb{Z} \quad -d$$

$$D_f = \mathbb{R} - \mathbb{Z}$$

$$\text{ب) } \sqrt{n} + \sqrt{y} = 9 \rightarrow \sqrt{y} = 9 - \sqrt{n} \rightarrow 9 - \sqrt{n} \geq 0 \rightarrow \sqrt{n} \leq 9 \rightarrow n \leq 81$$

$$0 \leq n \leq 81 \rightarrow D_f = [0, 81]$$

$$y = \sqrt{\frac{n}{n+b}} + a \quad D_f = (2, +\infty)$$

$$\frac{n+2}{n+b} + a \geq 0 \rightarrow \frac{n+2+a(n+b)}{n+b} \geq 0 \rightarrow \frac{n(a+1)+2+ab}{n+b} \rightarrow a = -1$$

$$n=2 \rightarrow 2+b=0 \rightarrow b=-2$$

$$b=-2$$

$$y = \sqrt{f(n) - n + 1} \quad f(n) = \begin{cases} r_{n-1}; [n] > \varepsilon \\ f_{n+\varepsilon}; [n] \leq \varepsilon \end{cases} \quad D_{\#} = ?$$

$$f(n) \geq n-1$$

$$f(n) \begin{cases} n \geq 0 \rightarrow r_{n-1} \rightarrow r_{n-1} \geq n-1 \rightarrow n \geq 0 \rightarrow n \geq 0 \\ n < 0 \rightarrow f_{n+\varepsilon} \rightarrow f_{n+\varepsilon} \geq n-1 \rightarrow r_n \geq -\varepsilon \end{cases}$$

$$\rightarrow n \geq -\frac{\varepsilon}{2} \rightarrow -\frac{\varepsilon}{2} \leq n < 0 \cup n \geq 0 \rightarrow n \geq -\frac{\varepsilon}{2} \quad \left(n \geq -\frac{\varepsilon}{2} \right)$$

$$y = \frac{r_{\varepsilon n^{\varepsilon}} + r_{\varepsilon n^{\varepsilon}} + 1/n + \varepsilon}{(\varepsilon n^{\varepsilon} + \varepsilon n + 1)^{\varepsilon}} = \frac{r(1/n^{\varepsilon} + 1/r_{\varepsilon} + \varepsilon n + 1)}{((\varepsilon n + 1)^{\varepsilon})^{\varepsilon}} = \frac{r(\varepsilon n + 1)^{\varepsilon}}{(\varepsilon n + 1)^{\varepsilon}} = \frac{r}{\varepsilon n + 1}$$

$$\rightarrow n \neq -\frac{1}{\varepsilon}$$

$$R - \left\{ -\frac{1}{\varepsilon} \right\}$$

$$y = \sqrt{1 - \log(r_{n-a})} \quad (b, c] \rightarrow \text{ممكن} \quad c - b = ?$$

$$\log(r_{n-a}) \leq 1 \quad r_{n-a} > 0 \rightarrow n > \frac{a}{\varepsilon} \quad \log \frac{r_{n-a}}{10} \leq 1 \rightarrow r_{n-a} \leq 10 \rightarrow n \leq \frac{10+a}{\varepsilon}$$

$$\rightarrow n \leq \frac{10+a}{\varepsilon} \quad \frac{10+a}{\varepsilon} - \frac{a}{\varepsilon} = \frac{10}{\varepsilon} = \delta$$

$$n \in \left(\frac{a}{\varepsilon}, \frac{10+a}{\varepsilon} \right]$$

$$\delta$$

برای جانمایی
برای رسم بیضی

X - 1

X - 5